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Multiple Choice Questions ( ¥z mark each ) :-

1. Atransformer has negative voltage regulation when its load p.f. is
\-4) zero (c) unity
b) lagging (d) leading - :D (Al) 7{

2. The efficiency of a given transformer is maximum when
a) Itruns at half full load \_g}its Cu loss equals iron loss /
b) Itrunsat full load d) it runs at 0.8 power factor ~ * ( (C )

3. The main purpose of performing open — circuit test on a transformer is to measure its

a) Culoss L) total losses

b) Core loss d) insulation resistance g ( <) 7Q
4." The short circuit test of a transformer provides the value of its

a) Equivalent impedance (c) Voltage drop

b) Full- load Cu loss ._ld) All of the above D  (4a) W
5. For conversion of 3 — phase to 2 — phase , which kind of transformer connection is used ?

.2} Open Delta or V-V connection (c) Star —Delta connection
b) Scott or T—T Connection (d) Delta — Star connection B (o) \P
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The formula for calculating efficiency of a transformer is
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